L (100) K2R A 2l & (170) K= 0l 2+ g (173)Et sl A A B E a2l CERED
=
28 Mg = 0il &k o e D=2 4 = I =

24,544,214 23,985,000 559,214
U242 22,995,000 22,542,000 453,000
EISIHAE XS+ 22,695,000 22,242,000 453,000
173-01
SN Eagel 10,437,000 12,474,000 22,037,000
O=21nEx3
SFAFE ol=22 ZHIAE
& & 3,747,000,000& - JI& 5,784,000,000& = A2,037,000
173-02
EtSlHAEEEZS 5+ 12,243,000 9,753,000 2,490,000

OLESHEEZ (RSHIBEZAMGEU TE AUIREER)

2 1,611,000,0008 - JIF 2,471,000,0008 =  A860,000
OYLrE N2 ES
2PMAET STHOIS AlE XA JI2 L ALK B
500,000,0002 X 1A = 500,000
AEA MHGEHAETY Gt4T Bl JI2 L AALHSY




=}

(100) K== 29l 29024 HI&: (173)Et8 A B E 24l chel A P)
_ ik — - _
2. &, Of &k o e HiDE 2t = I =
800,000,0008 X 14! 800,000
EJNT L5542 HUAY JIE L MALHSS
500,000,0008 X 14! 500,000
IE HAT ZH QAR MIAY
350,000,00080 X 14! 350,000
stac =4 500,000,00080 X 14! 500,000
LE5taE Hyl 300,000,0008 X 14! 300,000
Hew =4 Y 24 150,000,0008 X 14! 150,000
SIAREIE JIE TAK 2H2A 250,000,0008 X 14! 250,000
SME SHUAH =¥ L5 52E FHHAY
ZE 400,000,0002 - JI& 700,000,0008 =  A300,000
SME SILIAH =8 5 5taC HUIAI (20238 SHWEA)
300,000,00080 X 14 = 300,000
180
= 1549214 1,443,000 106,214
181
T ! 1524214 1,418,000 106,214




Mg (181)=MAL NS

= = CHe A )
n St St OH jlg =2} = =
2. g, Mg Ol &K O] AF o HnE2 A = J| =
181-01
=MAHLHZ 1,524,214 1,418,000 106,214

O =MALH=

Z&E 1,524,214,000& -

JIE 1,418,000,000& =

106,214




